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29.

0

(4

8 +5=
6+ 4=
9+ 4=

3+ 1=

TOP 30

Can you answer all thirty
addition calculations?

2'9+8:

410 + 10 =

6. 10 + 4 =

8'8+4=

10.2+7=

12.9+6=

14.4+6=

16.2+8=

18.1+8=

20.6+6

2.7 + 2 =

24.7+3=

26.3+2:

28.8+9

30. 7 + 9 =
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Can you answer all thirty
addition calculations?

.8+ 5= 2.2 +1 =
3 4+ 4= 4. 5 4+ 5 =
> 7 +6 = 6. 7 + 4 =
" 9+6 = 8 3+ 3=
%10 + 5 = 0.6 + 8 =
1.9 4+ 2 = 1229 + 5 =
31 +10 = 4.9 + 3 =
15. 1 + § = 16. 4 + 8 =
7.9 + 10 = 18. 8 + 7 =
9.6 + 9 = 2.9 + 8 =
2. 10 + 1 = 2. 4 4+ 2 =
23.7 + 2 = 24. 4 + 3 =
%6 +6= 6.2+ 10 =
27. 7 + 3 = 28.9 + 1 =
29.9 + 9 = 3.6 + 3 =
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Can you answer all thirty
addition calculations?

L6+ 1= 2.8 +1 =
10 + 2 = 4 6+ 6 =
> 10 + 4 = 6. 1+ 10 =
4+ 1= 8 7+ 6 =
% 3+ 3= 0.2 + 8 =
.9+ 8= 2.4 + 9 =
3.2 + 9 = 4.4 + 6 =
5.1 + 5 = 16. 3 + § =
7.5 + § = 8.1 + 2 =
196 + 10 = 20. 2 + 10 =
21. 3+ 8 = 2. 10 + 9 =
8.7 + 5 = 24.9 + 4 =
5.3 4+ 4 = 6.5 + 3 =
27. 9 + = 28.6 4+ 9Q =
2910 + 3 = 3.4 + 3 =
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TOP 30

Can you answer all thirty
addition calculations?

10 + 10 = 2. 8+ 8 =
S+ 7 = 4 10 + 4 =
9+ 7= 6. 10 + 2 =
9+ 4 = 8. 5 + 6 =
6 + 8= 10. 4 + 6 =
-10 + 5 = 2.4 + 2 =
6+7= 4.1+ 5=
5+ 3= 6. 8 + 2 =
2+3= 8.2 + 8 =
8 +3= 20. 10 + 9 =
-9+ 4 = 2.9 + 3 =
10 + 3 = 24. 3 + 9 =
4 + 8 = 26. 2 + 10 =
1+ 4 = 28.7 + 7 =
5+ 8= 3.6 + 4 =
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0

(4

5+ 4 =

-3+ 10

442 =

TOP 30

Can you answer all thirty
addition calculations?

2'2+7=

46+ 10 =

10.9+5=

12.7+1:

14.2+1=

16.4+3=

20.8+4=

22.4+8=

24.1+6=

26.1+7=

28.10 + 3 =

30.6+5=

©TeaChing ﬁﬁw@ www.teachingpacks.co.uk




11.

13.

15.

17.

19.

21.

23.

25.

27

29.

0

(4

TOP 30

Can you answer all thirty
addition calculations?

2+ 6= 2. 64+ 6 =
10 + 10 = 4 8 + 3 =
9+6 = 6. 8 + 2 =
5+ 2= 8. 9+ 9 =
9+8= 10.2 +4 =
8+ 1= 2.9 + 5 =
9+2-= 4.1+ 6 =
5+ 8= 16. 9 + 3 =
6+9-= 8.4 +6 =
1+ 5= 2.7 +7 =
2+ 7= 22. 4 + 5 =
10 + 5 = 2. 9 + 1 =
10 + 3 = 26. 4 + 8 =
-7+ 3= 28. 4 + 4 =
3+3= 30. 10 + 4 =
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TOP 30

Can you answer all thirty
addition calculations?

/7 + 8= 2 1+6 =
[+ 7 = 4 8+ 8 =
[/ +5 = 6. 10 + 5 =
3+ 10 = 8. 8 + 5 =
5+ 9= 0.3 + 6 =
5+2= 2.7 + 1 =
10 + 9 = 4.8 +6 =
5+ 3= 16. 8 + 4 =
4 +1= 8.9+ 1=
3+2= 2. 10 + 7 =
6 +4-= 2.1 + 5 =
8+ 7 = 4. 4 + 3 =
6+7 = 6.6 + 10 =
2+ 2= 28. 3+ 9 =
10 + 10 = 3. 9 + 4 =
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Can you answer all thirty
addition calculations?

6+ 10 = 2.7 +2 =
3+ 1= 4 8+ 9=
51+ 9= 6. 4 + 9 =
' 5+9-= 8. 4 +5 =
9 6+ 5= 10. 4 + 10 =
1.6+ 3 = 1223 4+ 3 =
3-8 +1 = 4.4 + 2 =
15. 7 + 3 = 16. 3 + 5§ =
7.4 + 3 = 8.8 + 10 =
19.19 + 7 = 20.6 + 2 =
21. 4 4+ 7 = 2.7 +7 =
23.9 + 1 = 24. 9 4+ 3 =
25.10 + 3 = 26. 10 + 6 =
2710 + 8 = 8.8 + 8 =
2.6 + 7 = 30. 3 + 7 =
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(4

4+ 7=

6 +6 =

3+ 8=
10 + 3
- 10 + 8
-4 + 4 =

4+ 3=

10 + 1
8+ 4=
8 +8=

8+ 5=

TOP 30

Can you answer all thirty
addition calculations?

10.6+5=

12.3.'.1:

14.9+6=

16.9+5=

18.1+9=

20.4+1=

22.2+8=

26.3+9=

28.8+7=

30.4+2=

©TeaChing ﬁﬁw@ www.teachingpacks.co.uk




e TOP 30

(4

Can you answer all thirty
addition calculations?

"5+ 7= 2.6+ 10 =
3. 9+ 3 = 4. 4 + 6 =
> 4 + 3 = 6. 3+ 2 =
T 7T+4= 8 7 + 10 =
% 6+ 3= 0.7 + 5 =
M. 54+ 6 = 1223 4+ 7 =
3.4 + 5 = 4.8 + 5 =
158+ 4 = 6.7 + 6 =
7.2 +10 = 18.5 + 10 =
9.3 + 9 = 2.5 4 2 =
2.8 + 9 = 2.9 4+ 6 =
2.6+ 7 = 24. 5 4+ 1 =
5.6 + 2 = 26. 3 + 3 =
2.9 + 9 = 8.2 + 1 =
2.1 + 8 = 30. 5 + Q =
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Can you answer all thirty
addition calculations?

5+ 11 = 211 + 20 =
39+ 19 = 4 16 + 18 =
> 1+6= 511 +9=
20 + 11 = 8 9 + 18 =
% 8 + 18 = 1017 + 17 =
M4 +19 = 12. 11 + 17 =
310 + 20 = 1410 + 7 =
1511 + 15 = 16. 18 + 13 =
711 + 14 = 18.3 4+ 1 =
1914 + 20 = 20.7 + 20 =
1.6 + 18 = 2. 12 + 13 =
2.9+ 13 = 24. 17 + 13 =
2513 +8 = 26. 1 + 17 =
7 + 8 = 28. 19 + 15 =
2914 + 12 = 30. 20 + 19 =
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Can you answer all thirty
addition calculations?

"9+ 2= 2.8+ 3 =
> 13+6= 410 + 14 =
5 17 + 15 = 6. 13 + 11 =
711 + 20 = 8.2+ Q=
%12 + 17 = 1011 + 9 =
.20 + 15 = 12. 12 + 16 =
8.5 + 4 = 14. 18 + 7 =
1920 + 11 = 16. 9 + 18 =
7.2 + 16 = 18. 10 + 13 =
1993 +13 = 20. 12 + 12 =
26 +7 = 2. 90 + 12 =
2319 + 15 = 24. 16 + 12 =
2.5+ 3= 6.1+ 5 =
2. 11 + 12 = 28. 4 + 16 =
2.18 + 9 = 0.5+ 1 =
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Can you answer all thirty
addition calculations?

15 + 15 = 2.8 +19 =
22+7= 418 + 11 =
> 18 + 20 = 6. 11 + 8 =
15 + 17 = 8. 15 + 5 =
> 19 + 6 = 0.5 + 8 =
.14 + 20 = 12211 + 13 =
1317 + 12 = 14. 13 + 3 =
1514 + 8 = 16. 8 + 3 =
716 + 4 = 18. 19 + 7 =
19.20 + 9 = 20. 13 + 9 =
21.12 + 8 = 22. 12 + 19 =
2.3 + 10 = 24. 5 + 17 =
5.6 + 19 = 26. 20 + 11 =
27. 6 + 18 = 28. 14 + 12 =
211 + 11 = 30. 12 + 6 =
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Can you answer all thirty
addition calculations?

.3+5= 2.9+ 10 =
314 + 20 = 4 3+ 13 =
> 9+ 19 = 6. 14 + 11 =
10 + 4 = 8. 5+ 20 =
%> 9+ 4= 10. 10 + 14 =
"8+ 9= 1216 + 18 =
1315+ 9 = 14.20 + 1 =
15. 13 + 8 = 6. 11 + 5 =
7.6 + 11 = 18. 5 + 12 =
1920 + 13 = 2.5 + 15 =
2110 + 12 = 2. 20 + 18 =
23. 4 + 2 = 24. 12 + 3 =
220 +5= 2612 + 20 =
21.20 + 9 = 28. 12 + 8 =
2. 11 + 19 = 30. 5 + 1 =
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Can you answer all thirty
addition calculations?

14 + 8 = 2.20 + 16 =
> 156+ 9 = 4 15 + 5 =
> 3+ 5= 6. 10 + 4 =
6+ 15 = 8 7 + 10 =
% 4 +5= 10. 2 + 19 =
-3+ 14 = 12.90 + 11 =
13.8 + 8 = 14. 5 4+ 4 =
15.20 + 18 = 16. 11 + 19 =
7.4 + 15 = 8.9 + 15 =
9-2+2= 20. 16 + 13 =
2110 + 20 = 22. 1 + 19 =
2.4+ 11 = 24.90 + 9 =
25.3 4+ 7 = 6.9 + 8 =
2719 + 10 = 8.2 + 9=
2910 + 6 = 0. 17 + 20 =
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Can you answer all thirty
addition calculations?

1+ 7 = 2. 16 + 7 =
9+13= 414 + 18 =
S 4+2= 619 + 12 =
" 3+5= 8 10 + 18 =
% 3+ 10 = 10. 16 + 19 =
-9 +18 = 2.4 + 16 =
13. 13 + 6 = 4.5 + 1 =
>2+9-= 16. 16 + 17 =
717 + 19 = 18. 16 + 9 =
198 + 15 = 20. 12 + 14 =
2.6 + 19 = 22. 17 + 14 =
216 + 11 = 4.4 + 9 =
25.12 + 12 = 26. 11 + 15 =
21. 19 + 14 = 28. 8 + 2 =
2913 + 14 = 3. 8 + 20 =

©TeaChing ﬁﬁw@ www.teachingpacks.co.uk




e TOP 30

(4

Can you answer all thirty
addition calculations?

110 + 12 = 2 11 + 11 =
314 + 19 = 420 + 4 =
> 6+ 11 = 6. 5+ 11 =
18 + 7 = 8 14 + 6 =
9. 4 + 1 = 0.5 + § =
.12 + 16 = 12. 8 + 4 =
1314 + 20 = 4.9 + 11 =
1517 + 3 = 6.9 + 4 =
7.20 + 10 = 18.3 + 1 =
1918 + 10 = 20. 10 + 16 =
21. 14 + 4 = 22. 13 + 15 =
23. 16 + 13 = 2.9 + 9 =
2. 5 + 17 = 6.9 + 15 =
21. 14 + 17 = 28. 12 + 10 =
2. 14 + 16 = 30. 8 + 15 =
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Can you answer all thirty
addition calculations?

14 + 5 = 2. 4 + 15 =
34+ 9= 4 17 + 3 =
> 15 + 12 = 614 + 10 =
16 + 14 = 8 6 + 18 =
% 7+ 8= 10. 4 + 11 =
14 + 3 = 12.10 + 8 =
1315 + 11 = 4.9 +5 =
1516 + 20 = 6.4 + 5 =
719 + 19 = 18. 11 + 9 =
919 + 8 = 20.2 4+ 7 =
2.2 +6 = 213 + 4 =
23.18 + 8 = 24. 6 + 13 =
2513 + 14 = 26. 19 + 4 =
27- 18 + 10 = 28. 17 + 15 =
2914 + 6 = 30. 9 + 9 =
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Can you answer all thirty
addition calculations?

15 + 13 = 2. 20 + 5 =
39+ 16 = 411+ 7=
514+ 11 = 6. 1 + 6 =
717 + 9 = 8 19 + 20 =
% 3+2= 0.1 4+ 9=
.18 + 16 = 2.5 + 1 =
1314 + 15 = 1417 + 13 =
1+ 8= 16. 19 + 12 =
7.16 + 15 = 18. 15 + 16 =
1915 + 18 = 20. 97 + 11 =
2.8 + 11 = 2. 90 + 6 =
2.2+ 16 = 24.12 + 1 =
2514 + 16 = 6.6 + 4 =
21.19 + 9 = 28. 11 + 6 =
%4 +5= 017 + 20 =
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Can you answer all thirty
addition calculations?

1+ 11 = 2. 11 + 12 =
1+ 19 = 4 8 + 19 =
5+ 8= 6. 14 + 1 =
1+ 10 = 8. 17 + 14 =
3+8= 0. 8 + 18 =
7+ 14 = 12. 4 + 3 =
3+ 16 = 14.16 + 9 =
-8+ 1= 16. 3 + 12 =
10 + 8 = 18. 12 + 20 =
17 + 12 = 20. 8 + 14 =
10 + 6 = 22. 2 + § =
-8 +4 = 24. 2 + 20 =
18 + 19 = 6.5 + 9 =
-3 + 18 = 28. 5 + 7 =
17 + 6 = 30. 13 + 12 =
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A

5+2=7 29+8=17 . 8+5=13 22+1=3
3 2+1=3 410+ 10 =20 5 4+4=28 4 5+5=10
56+10=16 610 +4 =14 57+6=13 67 +4 =11
10 +2=12 8. 8+4=12 ~9+6=15 8 3+3=6
1+4=5 0.2+7=9 10 +5=15 0.6 +8=14
7+ 4 =11 29+6=15 "2+2=4 29+5=14
B9 +2=11 44 +6=10 81 +10 = 11 49 +3=12
B5+4=9 6.2+8=10 B1+6=7 6.4 +8=12
75+9=14 8 1+8=9 7.9 +10 = 19 8. 8+7=15
1+3=4 20.6+6=12 %6 +9=15 2.9 +8 =17
2.3+3=6 27+2=9 210+1=11 24+2=6
2.8+5=13 2#7+3=10 B7+2=9 % 4+3=7
%6+4=10 %.3+2=5 % 6+6=12 %.2+10 =12
7.9 +4 =13 28.8+9=17 27.7+3=10 2.9+1=10
23+1=4 %-7+9=16 2.2+9=11 0-6+3=9
C D
Le+1=7 28+1=9 10 + 10 = 20 28+8=16
310 +2=12 46+6=12 3 5+7=12 410+ 4 =14
510 + 4 = 14 61+ 10 = 11 59+7=16 610 + 2 =12
T 4+1=5 8 7+6=13 79+ 4=13 & 5+ 6 =11
©3+3=6 0.2 +8=10 % 6 +8=14 0.4 +6 =10
"9 +8=17 24 +9=13 "-10+5=15 24+2=6
3.2 +9=11 “1+6=7 3.6 +7=13 “1+5=6
% 1+5=6 6.3+5=38 55+3=38 6.8+2=10
7.5+6=11 81+2=3 7.2+3=5 8.2+8=10
%6+ 10 = 16 20.2+10 = 12 9.8 +3 =11 2010 +9 =19
2.3+8=11 210 +9=19 2.5+4=9 2.9+3=12
B.7+5=12 2#.9+4=13 210 + 3 =13 2#.3+9=12
%3+4=7 %.5+3=8 %.4+8=12 %6.2+10 =12
7.2+6=28 2.6 +9=15 2.1 +4=5 2.7+7=14
210 +3 =13 0-4+3=7 . 5+8=13 0-6+4=10
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23.

25.

27.

29,

9+10 =19 22+7=9 . 2+6=8 26+6=12
31+5=6 4 6+10=16 310 + 10 = 20 4 8+3=11
554+4=28 6. 9+4=13 59+6=15 6.8+2=10
6+9=15 8 5+10 =15 T5+2=7 8. 9+9=18
® 1+2=3 0.9 +5=14 % 9+8=17 0.2+4=6
ne+1=7 227+1=38 n-8+1=9 222+5=7
B 6+8=14 “2+1=3 B9+ 2=11 “1+6=7
52+5=7 B 4+3=7 . 5+8=13 6.9+ 3=12
7.7 +8 =15 810 +7 =17 7.6 +9 =15 8.4 +6=10
%10 + 6 = 16 20.8+4=12 . 1+5=6 20.7+7=14
2.3+5=38 2.4 +8=12 2.2+7=9 2.4+5=9
B5+4=9 #1+6=7 2810+ 5=15 24.9+1=10
2%.3+10 =13 %.1+7=8 210 +3=13 2.4 +8=12
74+2=6 %10+ 3 =13 777+3=10 %4+4=38
22+4=6 3.6+ 5 =11 2.3+3=6 0-10+4=14
G H
7+8=15 21+6=7 6+ 10 =16 27+2=9
7+7=14 4 8+8=16 3 3+1=4 4 8+9=17
7+5=12 6 10+5=15 51+9=10 6.4+9=13
3+10 =13 8 8+5=13 “5+9=14 8 4+5=9
5+9=14 0.3+6=9 % 6 +5=11 0.4 +10 = 14
5+2=7 27+1=38 "6+3=9 23+3=6
10 +9 =19 “4.8+6=14 B.8+1=9 “4+2=6
5+3=8 6.8+ 4 =12 B7+3=10 6.3+5=28
“4+1=5 8.9+1=10 74+3=7 8.8+ 10 = 18
"3+2=5 2010 +7 =17 . 1+7=38 20.6+2=8
6 +4=10 21+5=6 24 +7=11 2.7+7=14
8+7=15 #4+3=7 2.9+1=10 2#4.2+3=5
6+7=13 %.6+ 10 = 16 %10 +3=13 %.10 + 6 = 16
2+2=4 28.3+9=12 27.10 + 8 = 18 28.8+8=16
10 + 10 = 20 30.9 +4 =13 2.6+7=13 3.3 +7=10
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23.

25.

27.

29.

4+7=11 2+7=9 L 5+7 =12 2.6+10 =16
36+ 6=12 4 7+3=10 39+3=12 4 446=10
5 2+6=8 6 5+9=14 5. 44+3=7 6 3+2=5
T 3+8=11 8 5+6 =11 77+ 4 =11 8 7 +10 = 17
% 10 + 3 = 13 0.6 +5=11 . 6+3=09 0.7 4 5= 12
110 + 8 = 18 23+1=4 M 5+6=11 23+7=10
B4+4=28 4 9+6=15 13.1+5=6 4.8 +5=13
5.4 +3=7 6.9 +5=14 5.8 4 4 = 12 6.7 46 =13
TT+1=38 ®1+9=10 7.2 410 = 12 8.5+ 10 = 15
°8+3=11 20.4+1=5 9.3 4+9 =12 20.54+2=7
24 +5=9 2.2+8=10 2.8 +9 =17 2.94+6=15
210 + 1 = 11 2410 +2 = 12 2.64+7=13 2.54+1=6
%8+ 4 =12 2.3 +9=12 % 64+90=8 %34+3=6
2.8 +8 =16 28.8+7=15 2.9+ 9 =18 2.2 41=3
2.8+5=13 0.4+2=6 2.14+8=9 0.5 4+9=14
K L

5+ 11 =16 2 11 + 20 = 31 L 9+2=11 2.8+ 3= 11
3.9+ 19 =28 416 + 18 = 34 %13+ 6 =19 410 + 14 = 24
51+6=7 6 11 +9=20 517 + 15 = 32 6 13 + 11 = 24
720 + 11 = 31 & 9+ 18 =27 711 + 20 = 31 8 2+ 9= 11
% 8+ 18 =26 1017 + 17 = 34 % 12+ 17 = 29 1011 + 9 = 20
-4 +19 = 23 1211 + 17 = 28 .20 + 15 = 35 1212 + 16 = 28
- 10 + 20 = 30 410 + 7 = 17 B.5+4=09 1418+ 7 =25
11 + 15 = 26 16.18 + 13 = 31 15.20 + 11 = 31 6.9 + 18 = 27
11 + 14 = 25 8.3+1=4 7.2 + 16 = 18 18.10 + 13 = 23
- 14 + 20 = 34 2.7 +20 =27 193 +13 = 16 20.12 + 12 = 24
6+ 18 = 24 212 + 13 = 25 2.6 +7 =13 220 + 12 = 32
9+13=22 2417 + 13 = 30 219 + 15 = 34 2416 + 12 = 28
13 + 8 = 21 2.1 +17 =18 %5+3=8 %.1+5=6
7+8=15 2819 + 15 = 34 2. 11 + 12 = 23 2.4 + 16 = 20
14 + 12 = 26 .20 + 19 = 39 218 + 9 = 27 0.5+ 1=6
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21,

23.

25.

27.

15 + 15 = 30 2 8+19=27 3+5=8 29+10=19
3 2+7=9 418 + 11 =29 314 +20 =34 4 3+13=16
5 18 + 20 = 38 611 +8=19 59+ 19 =28 614 +11 =25
715 + 17 = 32 8 15+5=20 10 +4 =14 8 5+ 20 =25
9% 19 +6 =25 0.5 +8=13 9 9+4=13 1010 + 14 = 24
14 + 20 = 34 2211 + 13 = 24 n.8g+9=17 12.16 + 18 = 34
1817 + 12 = 29 413 + 3 =16 8.15 +9 =24 420 + 1 =21
.14 + 8 = 22 6.8+ 3 =11 513 +8 =21 611 + 5 =16
17.16 + 4 = 20 8.19 + 7 = 26 7.6 +11 =17 8.5+ 12 =17
.20 + 9 =29 2013 +9 =22 1920 + 13 =33 2.5 +15 =20
2112 + 8 =20 2212 + 19 = 31 2110 + 12 = 22 22.20 + 18 = 38
2.3+10=13 2.5+ 17 =22 28.4+2=6 212 +3=15
2.6+ 19 =25 26.20 + 11 = 31 25.20+5=25 %612 + 20 = 32
2.6 +18 =24 214 +12 =26 27.20 + 9 =29 %812 +8 =20
211 + 11 =22 3.12 + 6 = 18 2911 +19 = 30 0-5+1=6
O P

14 + 8 = 22 2.20 + 16 = 36 1+7=8 216 +7 =23
15+9=24 415 +5 =20 39+ 13 =22 4 14 + 18 = 32
3+5=28 610 +4 =14 54+2=6 619 + 12 = 31
6 + 15 = 21 8 7+ 10 =17 7.3+5=38 8 10 + 18 = 28
4+5=9 0.2+19 =21 % 3+10=13 1016 + 19 = 35
-3 +14 =17 12.20 + 11 = 31 .9+ 18 = 27 2.1+ 16 = 17
-8 +8=16 “5+4=9 13 +6 =19 “45+1=6

-20 + 18 = 38 .11 + 19 = 30 5 2+9=11 6. 16 + 17 = 33
4+ 15 =19 8.9+ 15 =24 1717 + 19 = 36 8.16 + 9 = 25
-2+2=4 2016 + 13 = 29 9.8 + 15 = 23 2012 + 14 = 26
10 + 20 = 30 2.1+ 19 =20 2.6 +19 =25 217 + 14 = 31
4+ 11 =15 2420 +9 =29 2816 + 11 = 27 2.4 +9=13

3+7=10 %.9 +8 =17 2512 +12 =24 %611 + 15 = 26
19 + 10 = 29 22+9=1 2719 + 14 = 33 2.8+2=10

10 + 6 = 16 80. 17 + 20 = 37 2. 13 + 14 = 27 0. 8 + 20 = 28

29.
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.14 + 5 = 19 2 4+15=19
110 + 12 = 22 =22 4 oe i3 417 +3 = 20
> 14 +19 =33 tEorasm 5 15 + 12 = 27 6 14 + 10 = 24
5.6+ 11 =17 > 5+11=16 " 6+ 14 = 30 8 6+ 18 = 24
718 +7 =25 - 14+6=20 o 7 age s 0.1 +11 = 12
P4+1=5 roresd 14 +3 =17 10 +8=18
12+ 16 = 28 Teraci 1315 + 11 = 26 "1+5=6
1914 + 20 = 34 Ho+11=20 5 16 + 20 = 3 6.4 +5=09
15.17 + 3 = 20 16. 9 + 4 = 13 19+ 19 < 38 18.11 + 9 = 20
17.20 + 10 = 30 T3+ 1=4 1919 + 8 = 27 20.24+47=9
1918 + 10 = 28 ©10+16 =26 oy sees 213 + 4 = 17
21. 14 + 4 = 18 #13+15=28 2% 18 + 8 = 26 %6+13=19
2.16 + 13 = 29 24.9+9=18 % 13 + 14 = 27 26. 19 + 4 = 23
5.5+ 17 = 22 neris=A 2718 + 10 = 28 AT+ 15 =32
2714 + 17 = 31 H12r0=2 .14 + 6 = 20 0.9+9=18
29. 14 + 16 = 30 0-8+15=23
T
S

1+ 11 =12 21+12=23
15 + 13 = 28 220+5=25 1 e 19 - 2 48419 =27
5 9+ 16 = 25 411 +7=18 ¢ 5sg 3 614 +1 =15
51+ 11 =12 S1+6=7 74+ 10 = 11 8 17 + 14 = 31
717 + 9 = 26 5 19+20 =239 C e 0.8 + 18 = 26
. 3+0=5 0.1 4+9=10 "7 e 14 21 224+3=7
.18 + 16 = 34 Her1=6 3416 = 19 4. 16 + 9 = 25
1814 + 15 = 29 A g+ 1co 6.3 + 12 = 15
5.4 +8=9 o9 12=31 7.10 + 8 = 18 8. 12 + 20 = 32
7. 16 + 15 = 31 8. 15 + 16 = 31 17+ 12 = 29 2.8 + 14 = 22
1915 + 18 = 33 217+ 11 =28 210+ 6 2 16 224+5=7
2.8 + 11 = 19 “20r6=20 8.8+4=12 #2+20=22
2.2 + 16 = 18 A2+ =13 % 18 + 19 = 37 %.5+9=14
2514 + 16 = 30 ©6+4=10 234 18 = o1 %.54+7=12
27.19 + 9 = 28 1 +6=17 % 17 + 6 < 23 .13 + 12 = 25
2.4 4+5=09 30. 17 + 20 = 37
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